Week 15

Friday 3rd July 2020

Year 6 Finding Pairs of values - Varied Fluency
Watch the demonstration on finding pairs of values:
hitps://www.youtube.com/watch?v=0-bQyDTiPz4


https://www.youtube.com/watch?v=O-bQyDTtPz4

Substitution

Substitution

1a. Match the expressions to their values.

If.= 2 and'= 10.

1b. Match the expressions to their values.

If’= 5 cmd. = 25.
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2a. True or false? 2b. True or false?
Ifa=10and b = 5. Ifa=7and b = 15.
2a+b =22 2b-2a=16
ﬁ 6 VF ﬁ 6 VF
3a. Tick the substitution used for this 3b. Tick the substitution used for this
expression if the value is 225. expression if the value is 100.
[ a+2b ] [ a-2b ]
a=100,b=25 a=200,b=50
a=25b=100 a=50,b =200
ﬁ 6 VF ﬁ 6 VF
4a. Who is correct? 4b. Who is correct?
a=20,b=4 a=5,b=100
N
(a+b)x10 b -2a
is 26 x 10 = 260 is 100-5=95
“ y,
Euan
N
(a-b)x 10 b-2a
is16 x 10 =140 is 100-10=90
J
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Substitution
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5a. Match the expressions to their values.

it Ye=5and @ =2
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5b. Match the expressions to their values.

If ‘= 0.5and " =8.
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é6a. True or false?

fx=10,y=2and z=5.

3x+y+z=37

é6b. True or false?

1
Ifx= 73, y=1andz=10.

(x-y)+z=27

7a. Tick the substitution used for this
expression if the value is 75.

[ rx(pxaq) ]
p=10,g=25r=3

p=10,9q=3,r=2

W

7b. Tick the substitution used for this
expression if the value is 93.

T

q=25r=7

q=30,r=25

W

8a. Who is correct?

a=12and b =4

N

i axbis12x6=72
J
N

i axbis12x4=48
J

8b. Who is correct?

a=05b=10andc=9

N
- 2ax(bxc)
- is1x90=90

Tobias

2ax (b xc)is 10 x
90 = 900




Substitution Substitution
9a. Match the expressions to their values. | 9b. Match the expressions to their values.
i\ = 0.25 ana+= 0.5 )= 3 and h=2.7.
A s+ 0 -4 4] aazdos 20 - 47
B. (4 A + 2+)++ 775/ | B. (6 1+ 100 )+ 33.7
C. 10++ 10 + - 0.1 C. 24 + 10 + 29 7
6 VF 6 VF
10a. True or false? 10b. True or false?
1
fc=51,d=05ande=5. fc=72.,d=100and e =7.9.
(3c + 2d) —4e =3.7 (12c+d)+e=7.91
6 VF 6 VF

11a. Tick the substitution used for this
expression if the value is 54.6.

(a+c)+5b

a=25,b=10,c=2

a=23,b=10,c=0.5

11b. Tick the substitution used for this
expression if the value is 176.

(a-5b)xc

a=25,b=0.46,c=8

a=30,b=08,c=9

12a. Who is correct?

a=1.25,b=100andc =9

@ i (3axb)-c )

is 375 -9 = 366

Jack
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o (3axb)-c

00 125-9=116
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12b. Who is correct?

a=02,b=25andc =10

‘ N
@ .50x(3b—c)

= is2x15=30
Y m——y y,

will

N
; 5ax (3b-c)
is1x65=65

Lucy






